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point Continued

' Key Ideas Notes 1.7 Mid
Findin g 1. Find the coordinates of A if M(—1,2) is the midpoint of AB and B has the
Missi v coordinates of (3, —5).
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2. Find the coordinates of J if K (—5,10) Is the midpoint of JL and L has the coordinates
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MO‘!"?/MEdPO‘W 3. If P is the midpoint of XY, XP = 8x — 2 and PY =TZx — 30, find the value of x.
(Draw a diagram!)
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4. If G is the midpoint of FH, FG = 14x + 25 and GH = 73 — 2x, find FH. (Draw a

diagram!)
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5. Using the diag%

f-chdtEft, if line n bisects OR, find QP.
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